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I5A 2IE 300.0 kg 2,160 1,350 972
ZDHhIA kg
INTTF me 180.0 kg 2,052 1,890 1,296
H75 =) 100.0 kg 1,404 1,242 1,188
i kg
ARX¥ EE 150.0 kg 1,080 702 432
F X =S 60.0 ke 432 270 108
BT kg
A EE 10.0 kg 2,160 2,052 1,944
T (= 750.0 kg 3,078 756 324
/% K15 4550 kg 1,188 756 432
45 =E 200.0 Eg 3,240 1,350 648
ER g
INE e 50.0 kg 540 432 216
FIE 5.0 ke 5040 | 5940 | 5,940
7 kg
BAHTHE 37.450kg.
B F HER
BHFF) A kg
BFA4TL ke
HRTH ke
HTFAD
B4
54
ETEEHE 0.0kg.

TR TR RS 209.2kg.
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54 kg
Z D51 ke
INIF kg
B95 kg
RS kg
ARXF kg
FX kg
HIE kg
A3 kg
FT =0 400.0 ke 1,080 702 324
4\ RIG 150.0 kg 540 486 378
AH kg
S ke
INE kg
FIE ke
=" kg
BAEHTHE 28,800kg.
B T R
ATFUAS ke
BTAIL kg
H=7H kg
AFAT
1 WA
EH4
ETEHFGERE 0.0kg.
AR 77.6kg.
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DEDEHBVHELE-ZERBOMEMBIZ LT, EETHhREETHIEEHREF TR
BOFENAE-ELEDREICIVERELET,
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= 2 A = " HIC 1%
mE | B e ME | B = 5iE | BE
5 A ik 200.0 II:g 2.160 1,350 972
FDhAA g
INTTF E=E 100.0 kg 2,052 1,890 1,296
HJ5 BS 50.0 Eg 1,404 1,296 1,188
RS g
AR mE 50.0 kg 756 648 432
F X HE 50.0 kg 324 216 108
BEIF Eg
23 g
7 240 300.0 kg 3,078 864 432
HN KI5 300.0 kg 648 540 432
A7 EE 150.0 kg 3,240 1,620 648
e kg
INE kg
7IrE BE 50 kg 5,940 5,940 5,940
7 kg
EAETHE 8,400kg.
g F R
BHFF) A kg
BFATL kg
N7 kg
HTFATL
S
BY7
ETFHGHE 0.0kg.
ARHGHE 131.6ke.




® M7 % 4 A 26 H
HFe ik EYEETRE

R
# s RXRKAF
Wk £ R®BEA

DEQEBYHELE-ETES EOHEMBICOVLT., EET R RESEHISERSHETHE
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<A A 100.0 1,944 1,080 540
FTRBRA
INTF Rl 80.0 648 486 324
H75 50.0 1,188 1,188 1,188
RS
AR f 100.0 1,080 756 540
FX f 10.0 432 324 216
e
A3 1 10.0 2160 | 2,052 1,944
7o = 50.0 972 648 324
3 & 5.0 1,188 1,080 972
4H = 50.0 1,404 1,080 756
30
INE ] 50.0 540 432 216
yarl
T

BAHGHNSE 2,250kg.
g F BER
EFFUA
B2FA47Y
AITT
AFATL
WA
w\YT

BTG 0.0kg.

REHTRE 0.0kg




